EARAZROREIERT — 2 N—XBISY —F 2015578108 (£) 6@EAXFH5H

‘ [R1%] & ‘ [REBE] — | & (A) 16000 R

v >%3% 184528 2T %

[A&4£] 1 7% :1,300,000 @ 23 :390,000 @ 337 :234,000  ~ 43#&:156,000 @ ~ 5 7 :130,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
# 3 | BES 1:43.4 1-1-1-1 408 — | 1 | 43 |MEE (k)
111]1|#7E—B~— 56.0 =) © | @) BETTERLIFECORP
R:T7H T I BXRA—hb—7 pAtZse]
NS N EEiE 144, —5-4- . — EHET (KFH)
2 6 X 52 hOCH— 4 3 i 1(4;1)2 5-5-4-3 | 41.0 2 (5_0‘8 %Emé
L:TFRT48— B:HI-HhF— HEARS
S oo ase s RERI&E : —8-6- - MEME (KH)
slsl5 | votrH i 3 X 1.(424>.6 8-8-6-6 | 40.7 6 <4+520) nens
LiAfagHLyy BiRVISK—IL HR&SE AXMEXT7-T0
S e 4 3 | EHEEA 1:44.8 2-2-2-2 |42.2| — 9 426 | RHEZEM (KH)
4188 T2 RTIVZH 54.0 (3/4) (-8) k’ sinternational (
R:xA1=Gr—X B:FIFqXA—H al=: e
S =i e = )13 145, -9-9- . — AIRELE (/)\HE)
5 4| INTLRT= "3 56.0 1(34/54>0 $o98 1402 ° :1_921) ,%ta%ziﬁﬁrs”
L:—2YL K B:3ZeF7> R EE
= e 4 3 | RERZ 1:45.3 4-4-5-5 |42.1| — 4 485 | ERER (KH)
6 3 T—2y bx27 56.0 (1 3/4) +1) [l
Y by THY B RU—LF oy 2— EIL A4S
[ 3 | HEAH 1:46.2 3-3-3-4 |43.2| — 3 426 | RITIR (KH)
702|771 TFTANA ) @ o | ) HEL-2A-3
Ry —IoTlh B4 T4T597 () HEI-RL—-2a>AET7
Sy = “ IRHAH TS :48. 57— . — EBRERE (KH)
alglglvzrmrLyr 4 3 = 1(?3)2 5-5-7-7 | 44.7 7 (4:154) s
R:TI7v78%—K B:YavzxJ/NF REBIS
S5 i = # 3 | HEIIRHE 1:48.9 7-7-8-9 |44.5| — 8 425 | PAIE (KH)
9 2|77 y~xJjz—7 252.0 (31/2) (-1) |BEESR
R IRy b B:T7L2F K= BATCH7%H%
® I—F—@EBIERL
13—4— 1,8,7,3,(6,9),2,5,4
20—4+— 1,8,7,3,(6,9),2,5,4
3T—7— 1,8,7,6,3,5,9,2,4
AT =gr= 1,8,6,7,3,5,9,4,2
[ RN
B 1 230M 74K 1-6 210 & 1-6 530/ &R 1-5-6 1,600M
# B 1 120M =5 370 B 1-6 740M EE 1-6-5 4,910M
6 130M 5-6 450/ B = 1-6 510M
5 2104 B H 1-6 890

ABICOVWTRDTEEERROODE. TR LIV,



